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NPT NN T TRY lnx — If he arose and fenced in the fourth
side

Overview

The 71wn is vague concerning the statement of *01 "1 that 121 972 T2y ox. It
does not state who was 7713; whether it was the 7°pn or the A1 that built the
fourth wall>. In other m 3 the text read explicitly 121 Ap°1 Tay oX. Mo
rejects this X077,

NP1 7AY ax 11907 89 — The text do not read; “if the encircled one arose’.
The nm1wn was vague as to who actually fenced in the forth side.—

237w b N7 — For in fact according to (almost) all the
interpretations of the 71wn that the X973 states, the word '72y' —

nopnt 98 — refers to the encircling party’; not (only) to the encircled party.

Nn3 Rawwn 925 — except for the last interpretation in the “xn3

1779992 R2OR OPsY odpr aRpT — that states; the difference between the p'"n
and 701 " will be whether the 1°p% or the 1%, built the fourth wall. According
to this last opinion, the word Ty refers to the Ap°1 only and not to the fPpn. 01 "

maintains that only if the 7?1 made the fourth wall then 5377 nX 1%y 123232, However the
0°non maintain that 9377 nR 19 199393 regardless of who made the fourth wall.

mooIN anticipates a question on this statement that the term "Y' refers to the 5°pn.

(21 3,5 07 Rep K33) PATT TXOD P52 P77 XM — and concerning that which the
X773 infers in 93757 7X95 215, in the discussion of whether 9on X5 71 7373 77 is 2”0 or
Mo, The X3 infers from the statement of °01° " that 20n XY 71 7371 77 is My, for the
X3 there understands the word "7y’ to refer to the Ap°1, not the 7°pn. As the X71a there
states that according to 01 " -

nP°17 XMWY — the reason we are 571 DX 1YY 12a2an is because the P2 built
the fourth wall (he showed that he is willing to spend money); therefore he has to pay
for the rest —

e P N7 — however if the n°p» built the fourth wall (also), the ap1
would be 211D, even though he is a 7373, This proves that 90m X2 71 7373 77 is Mwd. This

concludes the quote from that X773. Obviously that X723 contradicts N90IN opinion that
"1a¥' refers to the 7Ppn.

mooIn answers that there is no contradiction. The &7 N0 that brought proof from our
awn —

" It would be beneficial to first learn the entire X3 until the end of 2,7, before studying this Moo,
%1t should be obvious that if it refers to the 7P (and the 771 is 2°17) then certainly if the 7j°1 made the
fourth wall he is 2. The question is whether it means only the 7p>1, or perhaps the 7°pn as well.

? Even if the 7°pn made the fourth wall, the 791 is responsible to contribute.

* moon is referring to the ¥71°°1°2 K2R AP 11 7°pn X1INR X7 at the end of this Ty,
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R1w% X779 19957 — it was according to that last J92% in our X »3, that interprets
"my' to refer to the *Apa. According to the other mnwY, however there would (seemingly)
be no proof from our ®x .

Summary
The X07°x in the 7Iwn 1s ") TN Y nm’, not "2 TN AP°1 Y aXY. In fact

according to almost all the opinions in the X713 the rule of the 7iwn applies
even if the 7°Pn was 773, The X3 in p"2 that attempts to derive from our
7awn that 20m XY 71 7371 77 is 0D, indeed maintains that 72y o) refers to the
a1, and is following the 1R RIW°7 in our XM,

Thinking it over
Can there be a X120 that if the qp°1 made the fourth wall there will be less
reason to be 2> him than if the 7°p» made the fourth wall?

> Perhaps the X3 there assumed that the expression 1731 72y X', indicates that this is being done by a new
person; one who is first now 721 1Y, i.e. the A°1. See 01 °27 71"'7 MdOIN on this TMY.

® We cannot infer anything from the fact that if the 7°Pn made the fourth wall the 7°1 is 217; because as the
X713 explains in "2 the 7°pn is a 7o for he can claim X1°n° X9°p7 °% nx nX. The proof can only be if the
A1 18 7Wd.
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